Describe position - easier.

Ta. Colour the shape to the left of the
circle.
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2a. Circle the shape that is up from the
star.
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1a. Fill in the gaps using the word bank.

The snail is from the bee.

The ladybird is of the snail.

The snail is of the ladybird.

\)

d

% ™ O

3a. True or false?
The doll is to the right of the blocks.
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2a. | am up from Jess.

Who am I?

4a. Which colour car is down from the red
car?
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3a. Mohammed says he put his helicopter
on the left of the shelf.

Is he correct?

Explain how you know.
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